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Section A: (28 x 2 marks = 56 marks)

For each question from 1 to 28, four options are given. One of them is the correct answer.

Make your choice {1, 2, 3 or 4) and shade your answer on the Optical Answer Sheet.

1

The diagram below shows part X of a plant.

What isfare the function(s) of part X?

(1)
(2)
(3)
(4)

A taking in air
B making food
C taking in water

B only

A and B only
A and C only
B and C only
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2

3

The diagram below represents the transport system of a plant.

substance A |

Y

tuba M

substance A

Which of the following correctly identifies part X and substances A and B?

leaf i«
substance B
1 ;
|
tube N ‘
substance B .
part X

part X substance A substance B
(1Y | stem water food
(2) | leaf food water
3 | root water food
@ | root _ food_ water

At which organ of the digestive

being absorbed?
(1) gullet

(2) mouth

(3) stomach

(4) lamge intestine

system is water from the undigested food

(Goon to the next page)
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4

BP-564

The diagram below shows how three bedy é}—stems work together. The avows show the
movement of some important substances in the body.

substance X

system 2

y

digestive system

digested food

digested food and substance X

all body parts

Which of the following correctly matches substance X and body systems Y and Z?7

(1)
(2)
()
(4)

substance X systemY systemn Z
oxygen __circulatory | respiratory
oxygen respiratory circulatory

carbon dioxide circulatory respiratory

carbon dioxide respiratory circulatory

Which of the following comparisons between the plant transport system and
the human transport system is correct?

(1)

(2)

3

(4)

Ptant Transport System .

.]- -. Human Transport System

Biood in the tubes transport the

Water in the blood vessels

substances transport the substances
Has one network of tubes to Has two network of tubes to
transport the substances transport the substances

Transports food produced in the
leaves

Transports only undigested food
to all parts of the body

Does not have an organ to pump |

the substances fo all other parts

Has an organ to pump the
substances 1o all other parls

{Go on to the next page)
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6

Ben was trapped in a lift with a group of people when it stoppf‘ed working for
45 minutes. The fan in the ift was not working and the lift door was tightly shut.

Which of the following is the most likely changes to the amount of
dioxide, nitrogen and water vapour in the lift after 45 minutes?

(1)

2

(3

e e e, (4)

More papers available at www.testpapersfree.com

Gas Change
Oxygen Decrease
Carbon dioxide | Increase
Nifrogen No change
Water vapour |  No change
Gas Change
Oxygen Decrease
Carbon dioxide Increase
Nitrogen No change
Water vapour Inicrease
Gas Change |
___Oxygen Increase
Carbon dioxide Decrease
, Nitrogen  No change
Water vapour Decreass
Gas Change
__Oxygen Decrease
_Carbon dioxide | Increase
Nitrogen Increase
Water vapour | No change
5

qnxygen, carbon

(Goonto Fhe next page)
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7 The diagram below shows a human heart that receives blood and pumps it
different parts of the body.

A (blood to the lungs)

1 '

, ~
v
b g
s

— B {biood to all paris of the body)

W™ +— C {blood from the lungs)

Which of the following graphs shows the amount of carbon dioxide in the different
blood vessels, A, 8, C and D?

(1 (2)
1
amount of amount of
carb‘?n dioxide carbﬁn dioxide
[ ] —
H  blood - T Lb,ocd' T
. vessel ' *vessel
A B C D A 8 C D
(3) (4)
amount of amount of
carbon dioxide carbon dioxide
A 4

I_—l - H _ blood | H . blood

" vesssl ~ vessel
A B C D A B C D

(Go on to the next page)
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8 Alex examines the animal cell as shown below and writes some statements.

Q is a jelly-like substance.
R controls the activities within the cell.
P is a cell wall which gives the cell a requiar shape

AERVER ) LS

QWP

Which of the statements written by Alex are correct?

(1) A and B only
(2) AandConly
(3) 'BandConly
(4) A, BandC

] Belie was asked to identify three cells, A, B and C.

" Name of cell
Parts of a cell CollA | CeliB " Cell €
nucleus present ___present ' present
-cellwall” - ) - - present- ~-{" -~ absent - _present
__Cytoplasm present - present . present
chloroplasts present absent absent
__cell membrane bresent present , present

Based on the information in the table above, what could cells, A, B and C be?

__CellA | CeliB Ceill C
(1) cheekcell |- leafcell - root cell
{2) leafcell cheek cell ' root cell
(3) oot cell cheek cell Jeaf cell
{4) , leaf cell i root cell cheek cell
(Goonto tfpe next page)
7
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10 The diagram below shows the development of a germinating seed.

a <

Which of the following graphs comrectly shows the relationship between the mass
of the seed leaves and the height of seedling?

(1 2 .
mass of | mass of
seed seed
leaves leaves
height of see.&!z'ng height of seeaﬁng
(3) {4)
A A
mass of
m::jdof / seed
.. leaves | - : leaves \ e
height of seedling height of seedling
(Go on to the next page}
8
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12
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The table below shows what a pupil had observed about ﬁragro% of insect X.

Date _ Observation
6 August | Many eggs wers laid. 1
10 August | Most eggs hatched into larvae. |
18 August | Some larvae became pupae.
29 August | Some pupae became adult insects.

.i
Based only on the information in the table above, which statement about insect X
is correct? |

(1)  Allthe eggs hatched into larvae. i

(2)  The farva stage comes right after the pupa stage. |

(3)  Ittook six days for the larvae of insect X to hatch from the £0gs.

{(4)  Insect X spends most of its life as a pupa before becoming an adult.
|

The characteristics that can be passed from parents to their offs;#ring are
fingerprint |
length of hair
curved thumb
type of ayelid

nwaooo

(1) PandRonly
£) QandSonly
(3} RandS only
{4} P,RandSonly

(Go o to the next page)
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13  Sammy drew the reproductive parts of a human and a plant respectively.

human reproductive system plant reproductive system

Which two parts indicate where the development of a fertilised egg take place in
the human reproductive system and the plant reproductive system?

(1) AandX
{(2) AandY
(3) BandyY
(4) CandW

(Go on fo the next page)
10
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14 Study the diagrams below. The set-ups, P, Q, R and S, are placedion the table in

the science laboratory.
. sealed glass

/’/;,/ - container

~ dry cotton wool

,M——-‘moist cotton wool

seed
set-up R

BP~571

\f

il d cotton wool
seed  coupg Y

> Ei moist cotion wool
seed set-up s

t

in which of the set-ups above will the seeds be able to germinate?

(1) PandQonly
(2) QandRonly
(3) RandSonly
{4) QRandSonly

@55 For an adutt plant 1o pmduce seeds, whxch of the fo

place?

(1) germination only

(2)  cross-pollination only

(3)  pollination and fertilization
(4)  germination and pollination

11

ﬂowing proce'ss(ips) must take

{(Goonto ¢1e next page)
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17

The diagram below shows the plastic bags used to fit wet umbrellas to keep the
floor in the shopping malls dry on rainy days.

plastic bags

Which two properties must these plastic bags have to serve the purpose?

(1)  strong and stiff

(2) light and transparent

(3) waterproof and flexible

(4) waterproof and transparent

Jess wanted o know if an object X has magnetic properties. She carried out
some tests and wrote her observations of object X as shown below.

Object X:

e is attracted to a magnet
« comes 1o rest in an east~-west direction when

hung freely
What could object X be?
(1) ironbar
(2) glassrod

(3) bar magnet
{4)  wooden block

{Go on to the next page)
12

More papers available at www.testpapersfree.com

BP-572



18

19

Mingwei completely filled up three similar syringes, each with a different
substance of either air, cotton woof or water. The opening of each syringe was
sealed and the plunger was at the 10 cm mark at first,

ringe filled LR T

with substance

Mingwel pushed the plunger of each of the syringes inwards with an equal amount
of force.

Which of the following was fikely the distance d, recorded for each syringe after
the push?

Distanced | Distance d for | Distance d for
for syringe syringe filled | syringe filled
fitled with air with cotton with water
{cm) wool {cm} {cm)

{1) 5 7 5

(2) 5 7 10

{3} 10 _ 5 7

(4) 7_ 10 10

Kate poured some cold water into a beaker. After five minutes, she observed
some water droplets forming on the beaker as shown below.

plastic lid \

water L — J
droplet L— beaker

cold water

Which of the following process resulted in the formation of the water droplets?
(1)  boiling

(2) melting

(3} evaporation

(4  condensation

(Go on to the next page)
13

More papers available at www.testpapersfree.com

BP~573




BP-574

20 Whichofthe f;)—ilowing diagrams does not show the effect of heat gain comrectly?

(1)

(2) U/ coloured ink ""‘"&
i |

B e—_

S

(3)
.. dented ping pONg _ basin of hot water
bail
(4) |
deflated balioon

(Go on to the next page)
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21 A beaker of ice cubes was left on a tabie to melt. After melting, the water later
reached room temperature. The water was then heated over a flame until it boiled.

The following graph was plotted to show the changes in temperature over the
petiod of time.

Temperature {°C)

»

100

28

. Time (min)

0 5 13 16 20 24

Based on the graph, which of the following statements is not correct?

(1) The room temperature was 28 °C,

(2) Al ice cubes had melted after 5 minutes.

(3) Heat from a flame was supplied at point B.

(4) There was a change of state at points D to E in the experiment.

22 Water changes from one state to another as shown in the diagram below.

: Process P —————  Process Q - .
lce o Water . | — > | Water vapour .
Process S Process R
Which of the following statements are correct?
A Process S is condensation.
B Process Q can only happen at 100°C.
C Process Q involves heat gain by the water.
D Water vapour loses heat during process R,
(1) AandBonly
{2) CandDonly
(3) B,CandDonly
{4) ABCandD
15 (Go onto the next page)
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23  Thiru prepared a set-up to investigate the effect of heat on the volume of air in the

flask as shown below.

beaker

coloured |~
water [T —

-

Which of the following correctly describes the observation of the experiment and

the explanation for the observation?

— delivery tube

Observation

Expilanation

Coloured water from the beaker
(1) { was drawn into the flask
through the delivery tube.

Air in the flask lost heat and
contracted. This created a space for
the coloured water to move towards
the flask.

Coloured water from the beaker
(2) | was drawn into the flask
through the delivery tube.

N Air'in-the'ﬂa"si} g-a}'r;'ed heat and

expanded. This created a space for
the coloured water to move towards
the flask.

Air bubbies are cbserved

3) leaving the coloured water after
passing through the delivery

tube.

Air in the flask gained heat and
expanded. Some of the warm air
was pushed through the delivery
tube and escaped as bubbles in the
coloured water.

Air bubbles are observed

) leaving the coloured water after
passing through the delivery

tube.

Air in the fiask lost heat and
contracted. Some of the cool air
was pushed through the delivery
tube and escaped as bubbles in the
coloured water,

16
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24 —Hailey cut out a square shape from a wooden block and a circular shape from a

clear gfass block as shown below

wooden block

cut-out shapes

clear glass block

She then glued the two blocks together, A tlamp with red light was brought near

the two blocks as shown in the diagram below.

glass wooden
block biock

screen

Which one of the following was most likely to be the shadow formed on the

screen?
B ) R ]
sl =6
white
—— black
@
white
red
17

(2)

4)

{Go on to the next page)
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25 The diagram below shows the different components that make up an eleClic
circuit.

[j |

Which of the following components is the energy source for the circuit?

(1) bulb
(2) wire
{3) switch
{4) Dbattery

26 The diagram below shows an electrical system made up of three switches, two
light bulbs and three batteries.

L

I3

Which of the following circuit dlagrams shows the correct representatlon of the
actual system shown above? . =

(1) —L®l €3 —T R _]_
1R

B
{3 ' _
13RI AN

18 {Go on to the next page)
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27

Four students set up an electrical circuit with four identical bulbs, B1, B2, B3 and
B4. They recorded the number of bulbs that lit up after varying the positions of the
bulbs. Their observations were as shown below. :

First arrangement Observations

=  Only bulbs B1 and B2 lit up

_Second arrangement ] Observations

: | | I L
BRER

81 B3 | «  None of the bulbs lit up

B2 B4 |

x ——&K-y

Which of the following was a possible reason to explain why some bulbs did not
fight up based on the observations above?

(1)  Bulb B3 was the only faulty bulb.
(2)  Bulb B4 was the only faulty bulb.

(3) Wiires along X to Y had disconnected.
(4) Buibs B3 and B4 were the only faulty bulbs.

19 (Go on to the next page)
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28 Three electrical circuits, X, Y and Z, are set up as shown below. Each circuit

consists of a battery, a bulb and three rods made of different materials, namely
iron, wood and plastic.

o

—®

———

e N\ N
circuit X circuit Y

circuit Z

in which of the above circuit(s) would the bulb light up?

{1y Circuit X only

(2) Circuits X and Y only

(3) Circuits Y and Zonly

(4  None of the circuits above

20 {(Go on to Booklet B)
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Section B: {44 marks)
Write your answers to guastion 29 10 41 in the space provided.

The number of marks available is shown in brackets [ ] at the end of eagh question or pan
question.

29  The diagram below shows a cross-section of a plant transport system.

{a) Name the parts, X and Y, as shown in the diagram above.

X (1l

Y: Ml

(b)  What would happen {o the plant aftéra month if all of part X are ddmaged? Explain

BP-582

YOUr answer. [1]
{c) What is the function of part Y? [1]
(Go on to the next page)
| Score
4
2
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30 The diagrams below show the respiratory systems of a fish and a human.

fish buman
(@) At which positions, P, Q, R or S, do gaseous exchange take place in a fish and a
human? (1
Fish
Human

L

{b} Explain why the blood needs to be transported back to the iungs in the human
respiratory system.

(1]
()  Describe clearly how the fish gets oxygen for its survival, 2
- {Go on to the next page)
Score
4
3
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31 Study the flow chart below carefully.

(a) Based on the flow chart, put a tick in the correct box for the type of cell as

Cell

indicated in the flow chart.

Does it have
a nucleus?

Does it have
a cell wall?

Does it have
chloroplast?

D

Type of Cell

A

D

LT Cheek cell

Leaf cell

BP-584

{b) Based on the flow chart, which type of cell, A, B, C or D, is taken from the root of a

plant? Explain your answer.

{c) Based on the flow chant, state one difference between cell A and cell B.

More papers available at www.testpapersfree.com
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32  Ths flow chart below shows the human reproductive systom.

from female from male
S ] T

process X

y
young

(a)  Based on the flow chart above, name the reproductive cells that both the letters,

S and T, represent, 1]
S:
T:

{b) What is process X? Describe what happens during the process. 11

()  Where does the young develop in the human reproductive system? {1)

(Go on to the next page)
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33

{a)

(b)

Susan records the-characteristics of fruits W, X and Y in the table below.

Deserption of it | e | s ey
Is edible yes yes no
Has fibrous husk no yes no
Is juicy and fleshy . yes no no
is bright red only when ripe yes no no
Has wing-like structure no no yes
What is the likely method of seed dispersal for fruit W? 11

Describe how being juicy and fleshy help the seeds to be dispersed further away

from the parent plant.

1)

{Go on to the next page)
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Diagram 1 below shows the seed dispersal pattern of one of the fruits.

Key:
Q parent plant
@ young plant

flow of
the river

Diagram 1

{c) Based on diagram 1, what is the likely method of seed dispersal of the fruit shown
above? Give a reason for your answer. : [1]

BP-~587

{d)  Based on the information from the diagram 1 and the earier table, which fruit, X or v,

has the seed dispersal pattern shown above? Explain your answer. 1}
(Go on to the next page)
Score
7 4
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34 The diagram below shows the cross-section of flower H.

sticky stigma

{a) Whatis the function of A in a plant? [11
(b) What is the advantage of having a sticky stigma in the process of pollination?  [1]
{¢} How would the removal of part B affect lower H? Explain your answer. n

(Go on 1o the next page)

Score
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35  Cindy wanted o find out if the strength of an electromagnet is affected by the
number of coils of wite around an iron rod. She conducted an experiment using four
set-ups, A, B, Cand D.

The experimental conditions and results are as shown below.

Sef-up A B c D
Number of batteries 3 2 2 3
Number of coils of wire around
 iron rod 30 40 10 40
Number of paper clips attracted | 10 : 10 5 ] i6
{a)  Which two set-ups should Cindy compare for her experiment? [1]

(b)  Comparing set-ups B and D, what is the relationship between the number of batteries
used and the strength of an electromagnet? [1]

(€}  Electromagnets are commonly used in sorting out magnetic waste from
;- -nonr-magnetic materals. One such example is as shown below.

wire cable

switch to cut off electricity

Why is an electromagnet used instead of a normal powerful magnet in sorting out

magnetic wasta? (1]
(Go on to the next page)
9 Score
3
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36  Macy carried out an experiment by placing a test tube of tap waterat 28 °Cinto a~

()

(b)

{c)

beaker of ice cubes.

test tube ———— ) thermometer
~

beaker

tap water _. "
at28¢C

ice cube

She then plotted a graph showing the change in temperature of the beaker of ice
cubes over time as shown below.

Temperature (°C)

! 3

20+

»  Time (min)

§
1
1
i
3
i
i
1
i
3
3

0 30

Explain why the tap water became cooler when placed into the beaker of ice cubes

1]

Based on the information above, state a possible room temperature where Macy
carried out her experiment. 1]

Macy's teacher suggested that she should use crushed ice instead of ice cubes to
cool the tap water more quickly. -
Explain how her teacher’s suggestion works. [1]

(Go on to the next page)

Score
10
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37 8hi Chen carried out an experiment using set-up A and set-up B as shown below.
The fan in set-up A was switched on during the experiment but the ;}an in set-up B

was not,
| - container—.__
beaker
200 mi
of water-

After three hours, she recorded the amount of water left in sach beaker.

{a)  Inwhich set-up, A or B, would less water be left in the beaker? Explain your

BP~591

answer, {2]
{b) " State the aim of Shi Chen's experiment. (1]
{¢}  What was the purpose of the container in the experiment? ; 1]
(Go on to the next page)
 Score
11 5 ‘ 4

More papers available at www.testpapersfree.com




38  Kaviwarited to find out which material was most suitable to keep his coffee warm for
the longest period of time. He placed three cups, A, B and C, of different materials.
containing the same amount of coffee of the same temperature (35 °C) on a hot plate.

cupC
Coffee at
35°C
hot plate ¥ o - - _ ,
= )

" He measured the temperature of the coffee in each cup after five minutes and
recorded the results in the table below.

Temperature of coffee (°C) after 5 minutes

Cup A . CupB Cup C
40 60 50

(a) Arrange the three cups, A, B and C, according to their ability to conduct heat
beginning with the best to the poorest conductor of heat. 1]

BP-592

© (b)Y " "Should Kavi use-cup B to keep his hot coffee warm for the longést period of time? .-~

Explairs your answer. 2]
{Go on to the next page)
Score
3
12
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39  Gordon set up an experiment Using a torch and a cylinder to cast g dark shadow on
a screen as shown in the diagram below.

torch dark shadow

g RS
= “ eylinder

{a}  Without adding or removing any items in the set-up above, what could Gordon do to
get a bigger shadow? 11

(b}  Basedonthe diagram above, describe the transparency of the cylinder. {1

3

Gordon made some changes to his original set-up. He changed the position of the

torch and screen as shown.

- e /TN

chlimder
/ _ /L screen

forch

{c}  Inthe box below, draw the shadow that Gordon would observe onthe screen. [1]
(Go on to the next page)
Score
13 :
33
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40  Arif has a toy tank which works on balteries.

light

%
-
~

switch 1 l:'(

He plays with the toy tank and records his observations below.

h switch 2

rubber belt

Switch(es) turned on _ Observations
Switch 1 only Rubber belt moves
Switch 2 only ~ Light itup

Switches 1 and 2

Light Jit up and rubber beit moves

{a)  Based on the information above, complete the electric circuit below to show how
Asif's toy tank could have been connected.

wire J

motor 'Eb
L 1 movethe
rubber belt

switch1. .......

[2]

switch 2

(Go on to the next page)
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{b) if the light bulb in the toy tank fuses, will the rubber belt stil be able o move?

Explain your answer. [1}
(Go on to the next page)
Score
3
15
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— 41 Study the three electrical circuits, A, B and C, below, All the bulbs and batteries used
are identical and are in good working condition.

bulb Y

¢

bulb X bulb Z

2 R —

1] 1] L

circuit A gircuit B circuit C

{a)  Write down ‘True’ or ‘False’ beside each statement in the given boxes below, 2]

Statement True or False

(i) Bulb Zis the dimmest among all the bulbs.

{ii} Bulb Xis brighter than bulb Y,

{b) if one more bulb is added in series to circuit C, how will the bnghtness
- -. - -of bulb Z be affected? S CENETUPEEERTETREI )

~ End of Paper ~

Score

16

More papers available at www.testpapersfree.com



SCHOOL : NAN HUA PRIMARY SCHOOL
LEVEL : PRIMARY 5
SUBJECT : SCIENCE .
TERM 2022 SA2
SECTION A
Q1 Q2 Q3 Q4 Q5 Qe Q7 Q8 Q9 Q1o
2 4 4 2 4 2 3 1 2 4
Q11 | Q12 | Q13 | Q14 | Q15 | Q16 | Q17 | Qis Q19 | Q20
4 3 2 3 3 3 1 2 4 4
Q21 | Q22 | Q23 | Q24 | Q25 | Q26 | Q27 | Q28
3 2 3 4 4 1 4 1
SECTIONB
Q298) | a) X: food-carrying tube
Y: water-carrying tube
b) The plant will die as it has no food-carrying tube(s) to transport
food from the leaves to other/ all parts of the plant.
c) The water-carrying tube(s) transports water and mineral salts /
"' minerals / nutrients from the root to other / all parts of the plant. |
Q30) |a)Fish: Q
Human: S

b) The blood will absorb / take in oxygen from the lungs and remove |
release carbon dioxide at/ into the lungs.

OR

At the lungs, the blood absorbs oxygen and release carbon dioxide.

OR |

At the lungs, the blood exchange carbon dioxide for oxygen.

c) Water containing (dissolved) oxygen will enter the mouth and
pass through the gills / gill filament where the (dissolved) oxygen
will be absorbed into the bloodstream.

Pg1l
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OR
Water will enter the mouth. Dissolved oxygen in water will be

absorbed into the biood at the gills.

Q31) |a)
Type of cell A B Cc D
Check cell Vv
Leaf cell J
b) Cell C. It does not contain / have chloroplast(s) to trap sunlight/
light to make food.
c¢) Cell B has a nucleus but Cell A does not.
Q32) |a)S:eggcell/egg
T: sperm
b) Fertilisation. During fertilisation, the male’s sperm / reproductive
cell fuses with / fertilises the female's egg / egg cell.
L ¢) The young develops in the womb of the female’s body / mother.
Q33) | a)Seed W is dispersed by animals.
b) Being juicy and fleshy will attract the animals to eat the fruit. The
(big) undigested seeds will either be thrown away / pass out in
droppings after some distance.
c) By water. The young plants are growing along the river.

-d) Frait X. Fruit X has & fibrous’ husk which has air space / which
traps air. The air space helps it to float in water. The seeds will
germinate along the river.

Q34) | a) Part A produces for stores pollen grains.
b) The stigma can trap and hold the pollen grains dispersed (by the
animals).
c) Fertilisation will not take place and the ovary / flower will not
develop into’a fruit.
OR
Flower X cannot reproduce as the ovary / flower cannot develop into
a fruit.
Q35) |a)AandD OR BandC
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b) As the number of batteries used increased / decreased and the
strength of an electromagnet increased / decreased.

¢) An electromagnet can lose its magnetism easier / faster by
opening a switch / cutting off the electricity supply to release the
attracted magnetic waste for complete separation.

OR

An normal magnet cannot lose its magnetism easier / faster to

release the attracted magnetic waste for complete separation.

Q36)

a) The tap water loses heat to the beaker of ice cubes.

b) Accept more than 20°C and less than or equal to 28°C i.e
21°C , 22°C , 23°C , 24°C , 25°C , 26°C , 27°C , 28°C

¢) Crushed ice has a greater / increased exposed surface area in
contact with (the test tube of) the tap water to allow faster / more
heat lost by the tap water to the ice.

Q37)

a) C: Set-up A
E: Only the fan in set-up A was switched on.

C: More wind / greater air movements is present in set-up A to
increase the rate of evaporation of water.
L: Hence, less water will be observed in the beaker of set-up A.

b) To find out if the presence / amount of wind affects the rate of

evaporation of water.

OR ‘

To find‘ out if the presence / amount of wind affects the amount of

water left in a beaker.

c) The container reduced wind in the surrounding from entering the
set-ups so that Shi Chen can be sure that the resuits of his
experiment is only due to the presence of wind generated by the
fan.

Q38)

aB,C,A
b) C: No
E: Cup B is at the highest temperature after 5 mins / Cup B gains
the most heat from the hot plate. '

C: Cup B will gain most heat from the coffee / gain heat from the coffee
fastest.
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L: and lose most of the heat to the surrounding air / and lose the

heat to the surrounding air fastest.
OR

C: No

E: Cup B is at the highest temperature after § mins / Cup B gains
the most heat from the hot plate.

C: Cup B is the best conductor of heat.

L: and will conduct most heat from the coffee to the surrounding
air/ and will conduct heat from the coffee to the surroundings

the fastest.

Q39) | a) Any one of the below.
Move the cylinder closer to the touch.
Move the cylinder further from the screen.
Move the torch closer to the cylinder / screen.
Move the screen further from the cylinder / torch.
b) translucent/ allows some light to pass through it.
opaque / allows no light to pass through it.

Q40)

b) Yes. The motor and the bulb are connected in a parallel

arrangement, electric current can still pass the motor / flow
through the motor when the bulb fuses to mave the rubber belt.

Q41) |a)i)True ii) False
b) Bulb Z will become dimmer / The brightness of bulb Z decreased.
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